EFORT

COUPLINGS - VALVES - TUBING

WTR SERIES




WTR SERIES / INDEX

WTR SERIES / PUSH-IN FITTINGS

il

‘ R ‘!'

(

0.10 / WTRC-R p. 11 / WTRC-G

g

0. 12 / WTROC-R

0. 12 / WTROC-G

o. 13 / WTRCF-G

<
=4
==

p. 13 / WTRMF-G

( t!

p. 14 / WTRMM p. 14 / WTRSL-R

0. 15/ WTRSL-G

N

p. 15/ WTRL-R

e

i

0. 16 / WTRL-G

p. 17 / WTRLL-R

o

ltl I‘

- - ool =

p. 17 / WTRLL-G p. 18 / WTRLH-R p. 18 / WTRLH-G p. 19 / WTRLF-G p. 19 / WTRLM p. 20 / WTRH-R

"_ T |'l i'

= =

21 / WTRHF-R p. 21 / WTRHF-G p. 22 / WTRT-R p. 22 / WTRT-G p. 23 /WTRST-
= = ' '

p.23 / WTRST-G p. 24 / WTRWT-R p. 24 / WTRWT-G p. 25 / WTRKD-R p. 25 / WTRKD-G p. 26 / WTRUC
p. 26 / WTRG p. 26 / WTRUL p. 27 / WTRUT p. 27 / WIRGT p. 27 / WTRY p. 27 / WIRW
p. 28 / WTRZA p. 28 / WTRK p. 28 / WTRKG p. 28 / WTRGJ p. 29 / WTRLJ p. 29 / WTRLGJ
p. 29 / WTRTJ p. 29 / WTRTGJ p. 30 / WTRYJ p. 30 / WTRWJ p. 30 / WTRKJ p. 30 / WTRPF
p. 31 / WTRLJ p. 31 / WTRIG 31 / WTRP 31 / WTRUC-PRD | p. 32/ WTRCV




WTR SERIES / INDEX 5
WTR SERIES / BANJO FLOW REGULATORS

p. 37 / WTRFR-R p. 37 / WTRFR-R-IN p. 38 / WTRFR-G p. 38 / WTRFR-G-IN

WTR SERIES / FLAT FLOW REGULATORS

=

p. 41 / WTRNSF

WTR SERIES / HAND VALVES

PR

) o

p. 45 / WTRFS-R p. 45 / WTRFS-G ‘ p. 46 / WTRSF-R p. 46 / WTRSF-G p. 47 / WTRSS-R ‘ p. 47 / WTRSS-G

p. 48 / WTRFF



6 I WTR SERIES / PUSH-IN FITTINGS

WTR SERIES
PUSH-IN
FITTINGS

PLUS

COMPLETE RANGE thanks to 20 years
of experience in the industry

HIGHEST LEVEL OF PERFORMANCES
working pressure up to 16 bar,
increased working temperature from

-20°C to 80°C (push-in fittings)

PLASTIC STEM SYSTEM to allow
connection with different kind of fittings

MADE FROM TOP QUALITY
TECNOPOLYMERS to guarantee long-
lasting components

100% LEAK-PROOF TESTED

IN COMPLIANCE WITH ISO 14743
(EXCEPT ©16)

SUITABLE FOR VACUUM
APPLICATIONS

STATIC GRIPPING SYSTEM in order
to stop all movement of the tube
when inserted, granting a leak-proof
connection

Every fitting is DESIGNED TO
GUARANTEE MAXIMUM POSSIBLE
FLOW RATE accordingly to the
diameter of the tube and the thread



p. 10 / WTRC-R

0. 12 / WTROC-R

0. 12 / WTROC-G

WTR SERIES / PUSH-IN FITTINGS 7

0. 13 / WTRCF-G

k=g
=3

0. 13 / WIRMF-G

- F s

[y

o. 14 / WTRMM . 15 / WTRSL-G 0. 15 / WTRL-R 16 / WTRL-G 0. 17 / WTRLL-R
= - H’ o - —

p. 17 / WTRLL-G p. 18 / WTRLH-R p. 18 / WTRLH-G 19 / WTRLF-G p. 19 / WTRLM 20 / WTRH-R

p. 20 / WTRH-G p. 21 / WTRHF-R p. 21 / WTRHF-G p. 22 / WTRT-R p. 22 / WTRT-G p. 23 / WTRST-R

p.23 / WTRST-G p. 24 / WTRWT-R p. 24 / WTRWT-G p. 25 / WTRKD-R p. 25 / WTRKD-G p. 26 / WTRUC

l — -
0. 26 / WTRG 0. 26 / WTRUL 0.27 / WTRUT 0.27 / WTRGT 0. 27 / WTRY p.27 / WIRW
T I
0. 28 / WTIRZA 0. 28 / WTRK 0. 28 / WTRKG 0. 28 / WTRG)J p.29 / WTRLJ 0.29 / WTRLGJ
0. 29 / WTRTJ p. 29 / WTIRTGJ 0. 30 / WTRYJ p. 30 / WTRWJ p. 30 / WTRKJ p. 30 / WTRPF
QO 0O ¢
o™
31 / WTRLJ p.31 / WTRIG 31 / WTRP 31 /WTRUCPRD = .32/ WT:V




8

WTR SERIES / PUSH-IN FITTINGS

220°C = 80°C AVAILABILITY
Available with NPT thread on request

Working pressure:

16 Bar Body: Nickel-plated brass and PBT
Negative pressure: Collet: POM
- 0,95 Bar (- 95 kPa) .

Collar: Zinc

) Lock claw: Stainless steel AISI 301
Compressed air & Vacuum

(do not use in water application) Back ring: POM
Seal: NBR
- Taper gas BSPT ISO 7 O-ring: NBR

from R1/8" to R1/2" with teflon

- Parallel gas BSPP ISO 228

from G1/8” to G1/2”
- Metric ISO 262

@ ® O e

Products in compliance with

M5, Mé6 and M7 EC Regulation 1907/2006
Polyamide PA,

Products in compliance with
Polyurethane PU, ROHS3 ) | direciive EU2015/863

Polyethylene PE

CONSTRUCTION DETAILS

Bod
oy Back ring Body

Collet

Lock claw

Lock claw

Back ring

TIGHTENING TORQUE TIGHTENING TORQUE
TAPER GAS BSPT ISO 7 PARALLEL GAS BSPP ISO 228 & METRIC ISO 262
THREAD 1/8" 1/4" 3/8" /2 THREAD |M5x0,8| Méx1 | M7x1 | 1/8" | 1/4" | 3/8" | 1/2"

Nm 7 12 22 28 Nm 1,5 2 3 6 10 18 23




WTR SERIES / PUSH-IN FITTINGS

INSERTION OF THE TUBE INTO THE FITTING

- Make sure the tube is fully inserted into the fitting.

- To insert the tube into the fitting cut the tube off square (90°), insert tube up to the fitting end stop, and pull back gently to make sure it is correctly
connected.

- If there is any damage or scratches on the tube surface the tube is an oval shape, air leakage and tube release may occur. Check the tube condition
carefully.

- The OD of polyurethane tube expands when pressure is applied. Reinsertion into the fitting may not always be possible. Check the OD of the tube
and renew it the expansion is out of tolerance.

DISCONNECTION OF THE TUBE FROM THE FITTING

- Make sure the pressure in the system is zero before releasing the tube from the fitting.
- To release the tube, press the release sleeve towards the fitting with one hand (1) and pull the tube away from the fitting with the other hand (2).

- Always remove the section of tube previously inserted into the fitting before reinserting the tube by cutting back the tube. Always use the correct tube
cutter in order to cut the tube square and free of damage.

TOLERANCE - METRIC TUBE INSERTION DEPTH - METRIC TUBE
© TUBE 4 6 8 10 12 14 16 @ TUBE 4 ) 8 10 12 14 16
(mm) (mm)

TOLERANCE TUBE INSERTION
(mm) +0,1+0,1|+01|=x0,1|+£0,15|+0,15/+0,15 LENGHT (mm) 15 16,5 | 18,8 | 20,1 | 22,9 | 22,9 | 23,6

9



10 WTR SERIES / PUSH-IN FITTINGS

WTRC-R Male connector BSPT thread nickel-plated
CODE @D T | @ A L | CH H | g
WTRCO4RO01 R1/8" 9.8 7 19,3 10 3 6,2
WTRCO4R02 ‘ R1/4 9.8 9.5 179 14 3 9.8
WTRCO6RO1 R1/8" 11,9 7 20,4 12 4 69
WTRCO6R02 R1/4" 1,9 95 22,7 14 4 13,3
WTRCO6R03 ‘ R3/8" 11,9 10,5 20,7 17 4 19,9
WTRCO6R04 R1/2" 11,9 13,5 24,7 21 4 39,8
WTRCO8RO1 R1/8" 13,8 7 254 14 5 10
WTRCO8R0O2 R1/4" 13,8 9.5 24,9 14 6 1,9
WTRCO8RO3 ’ R3/8" 13,8 10,5 219 7 6 175
WTRCO8R04 R1/2" 13,8 13,5 25,9 21 6 376
WTRC10RO1 R1/8" 17,2 7 277 17 5 16,4
WTRC10R02 R1/4" 172 9.5 29,5 17 6 18,6
WTRC10R03 " R3/8" 172 10,5 27 17 8 20,7
WTRC10R04 R1/2" 17,2 13,5 253 21 8 34,6
WTRC12R02 R1/4" 19,6 9.5 32,9 20 6 24,5
WTRC12R03 12 R3/8" 19,6 10,5 29,9 20 8 25,3
WTRC12R04 R1/2" 19,6 13,5 32,9 21 8 41
WTRC16R03 R3/8" 24,3 10,5 376 24 8 42
WTRC16R04 ]é R1/2" 24,3 13,5 356 24 10 42,1

drawings and technical data are not binding & can be changed without notice



WTRC-G

Male connector BSPP & metric thread nickel-plated

WTR SERIES / PUSH-IN FITTINGS

CODE @D T oP A L1 L2 CH H g
WTRCO4M5 M5x0,8 98 3,8 20,1 10 2 57
WTRCO04Mb Méx1 98 4,5 20,8 10 2,5 6,1
WTRCO4M7 4 M7x1 9.8 4,5 20,8 10 2,5 69
WTRC04GO01 G1/8" 98 5 19,3 74 10 3 74
WTRC04G02 Gl1/4" 98 58 16,6 3,9 10 3 94
WTRCO6MS M5x0,8 1n9 3,8 21,2 12 2 74
WTRCO6M6 Méx1 ne 4,5 21,7 12 2,5 7
WTRCO6M7 M7x1 ne 4,5 217 12 2,5 772
WTRCO06GO1 6 G1/8" 1.9 5 19,9 67 12 4 75
WTRC06G02 G 1/4" 1.9 58 20,4 6,4 12 4 10,8
WTRC06G03 G3/8" 1,9 6,8 20 4,5 12 4 7
WTRC06G04 G1/2" 1,9 8 21,7 4,5 12 4 27,5
WTRCO08GO1 G1/8" 13,8 5 24,4 11 14 5 1.7
WTRC08GO02 G1/4" 13,8 58 22,2 7 14 6 111
WTRC08GO03 ’ G3/8" 13,8 6,8 21,2 4,5 14 6 15,7
WTRC08G04 G1/2" 13,8 8 229 4,5 14 6 27
WTRC10GO1 G1/8" 17,2 5 26,3 11 7 5 159
WTRC10G02 G1/4" 1772 58 275 13,9 17 6 20,4
WTRC10G03 " G3/8" 1772 6,8 25 8,9 7 8 20,6
WTRC10G04 G1/2" 1772 8 22,7 4.9 17 8 28,5
WTRC12G02 G1/4" 19,6 58 31,2 12 20 6 26,3
WTRC12G03 12 G3/8" 19,6 6,8 28,2 1 20 8 24,3
WTRC12G04 G1/2" 19,6 8 28,9 95 20 8 333
WTRC14G03 G 3/8" 218 6,8 31,8 13 21 8 30
WTRC14G04 Y G1/2" 21,8 8 29,5 10 24 10 20
WTRC16G03 G3/8" 24,3 6,8 34,9 14,5 24 8 42
WTRC16G04 ° G1/2" 24,3 8 36,1 18 24 10 50,7

drawings and technical data are not binding & can be changed without notice

11



12 WTR SERIES / PUSH-IN FITTINGS

WTROC-R Male connector round body with internal hexagon BSPT thread nickel-plated
CODE @D T P aC A L H g
WTROCO4RO1 R1/8" 9.8 10 7 19,3 3 56
WTROCO04R02 ‘ R1/4" 9.8 4 9.5 179 3 11,2
WIROCO6ROT 18 | 1o | 12 | 7 | 204 | 4 | 63
WTROCO6R02 6 R1/4" 1,9 14 9.5 22,7 4 12,5
WTROCO6RO3 R3/8" 11,9 17 10,5 20,7 4 19
WTROCO8RO1 R1/8" 13,8 14 7 254 5 10,2
WTROCO8RO2 R1/4" 13,8 14 9.5 24,9 6 13,1
WTROCO8RO3 ’ R3/8" 13,8 17 10,5 219 6 17,3
WTROCO8R0O4 R1/2" 13,8 21 13,5 259 6 379
WTROCTO0RO1 R1/8" 17,2 7 7 277 5 20,8
WTROC10R02 R1/4" 17,2 17 95 29,5 6 22,5
WTROC10RO3 " R3/8" 172 17 10,5 27 8 22,6
WTROC10R04 R1/2" 172 21 13,5 253 8 34
WTROC12R02 R1/4" 19,6 20 9.5 32,9 6 21,5
WTROC12R03 12 R3/8" 19,6 20 10,5 29,9 8 22,2
WTROC12R04 R1/2" 19,6 21 13,5 329 8 373
WTROC-G Male connector round body with internal hexagon metric thread nickel-plated
o0 CODE @b | T oP | @C | A L H g
22
3 WTROCO04M5 4 M5x0,8 9,8 10 3,8 20,1 2 52
' WTROC04M6 Mox1 9.8 10 4,5 20,8 2 56
- i WTROCO6M5 M5x0,8 1,9 12 3,8 21 2 6,8
1 WTROCO6M6b © Mox1 1,9 12 4,5 21,7 2 772
N

ac

H

|
il
N
N

|

|

drawings and technical data are not binding & can be changed without notice



WTR SERIES / PUSH-IN FITTINGS 13

WTRCF-G Female connector BSPP thread nickel-plated
CODE @b | T @ A L1 | 12  CH g
WTRCF04GO01 G1/8" 9.8 7 23,3 9.5 14 12,5
WTRCF04G02 ‘ Gl/4" 9.8 9 253 11,5 17 18
WTRCF06GO1 G1/8" 1,9 7 24,4 10 14 15
WTRCF06G02 6 G1/4" 1,9 9 26,4 12 17 19,3
WTRCF06G03 G3/8" 1,9 10 27,4 13 19 26,3
WIRCFO8GO1 i | s | 7 | 259 | 10 | 14 | 158
WTRCF08G02 Gl/4" 13,8 Q 279 12 17 19,4
WTRCFO8GO03 ’ G 3/8" 13,8 10 28,9 13 19 18,4
WTRCFO08G04 G1/2" 13,8 12 30,9 15 24 32,8
WTRCF10GO01 G1/8" 172 7 277 10 17 28,5
WTRCF10G02 G1/4" 172 9 297 13,3 17 27
WTRCF10G03 N G3/8" 172 10 30,7 14,3 19 24,6
WTRCF10G04 G1/2" 172 12 327 16,3 24 38,5
WTRCF12G02 Gl/4" 19,6 9 329 11 20 44,2
WTRCF12G03 12 G3/8" 19,6 10 33,9 12 20 359
WTRCF12G04 G1/2" 19,6 12 359 15,5 24 34,2
WTRMF-G Bulkhead female connector BSPP thread nickel-plated
E; CODE oD TI T2 @GP A |AMAX| L1 L2 [CHT|CH2 g
e WTRMFO04GO01 G1/8" | M12x1 | 9,8 7 54 2331 95 14 14 1155
éJ % i % T2 WTRMF04G02 ! G1/4" | M12x1 | 9,8 9 54 2541 16| 17 14 1204
ol 4 L WTRMF06GO]1 G1/8" | M4xl | 19| 7 69 |242| 7 | 7 | 17 263
. 1 . o WTRMF06G02 6 | G1/4" | Ml4x1 | 119| 9 6,9 2921 12 17 17 1 26,5
<W Wi LJ WTRMF06GO3 G3/8" | Miax1 | 19| 10| 69 [302] 13| 19 | 17 |35,
Li—‘} CH1 WTRMFO8GO1 G1/8" | Mloxl | 13,8 7 94 26,4 5 19 19 32
WTRMF08G02 G1/4" | M16x1 [ 138 9 Q.4 3441 12 19 19 424
WTRMFO8GO03 ’ G3/8" | Ml16x1 [ 1381 10 9.4 3441 13 19 19 424
WTRMF08G04 G1/2" | M16x1 [ 1381 12 9.4 3641 15 24 19 | 477
WTRMF10GO1 G1/8" | M20x1 | 172 | 7 9.4 29 | 77 21 24 | 52,8
WTRMF10G02 G1/4" | M20x1 | 172 | 9 9.4 31 Q7 21 24 | 53,5
WTRMF10G03 N G3/8" | M20x1 | 172 | 10 9.4 3431 13 21 24 | 53,8
WTRMF10G04 G1/2" | M20x1 | 172 | 12 94 36,3 | 15 24 24 | 588
WTRMF12G02 G 1/4" IM22x1,5|196| 9 10,9 335 | 91 24 27 | 682
WTRMF12G03 12 | G3/8" |M22x1,5|19,6| 10 10,9 3441 10 24 27 627
WTRMF12G04 G1/2" IM22x1,5119,6] 12 10,9 3941 15 24 27 1623

drawings and technical data are not binding & can be changed without notice



14 WTR SERIES / PUSH-IN FITTINGS

WTRMM Bulkhead connector nickel-plated
oP
@D CODE @D T oP |AMAX| L S CH g
, M
L
e WTIRMMO400 | 4 | Mi2xl 08 82 | 30) 3,5 14 15,4
- \ WTRMMO0600 | 6 M14x] 11,9 8,5 31,8 4 17 21,4
%3 1 CH
NIE | i i WTRMMO8B00 | 8 | Miexl | 138 | 88 | 353 | 45 19 | 268
< s
ol T WIRMMI000 | 10 | M20x1 | 172 | 115 39 5 24 | 527
“ : “ WTIRMMI1200 | 12 | M22x1 | 196 | 128 | 453 5 27 | 598
S —
T
WTRSL-R Short swivel male elbow BSPT thread nickel-plated
L2 CODE oD T oP A L1 L2 CH g
_ I WIRSLO4RO1 R1/8" | 11 7 16 175 10 58
i —_— 4
N AR +8I% WTRSLO4R0O2 R1/4" 1,1 9.5 19,5 175 14 63
_ il WTRSLO6RO1 R1/8" 13 7 17 19 10 64
- _ YVIRSHVORPT |
< Nen WTRSLO6RO2 R1/4" 13 95 | 205 19 14 12,4
— ¢
T WTRSLO6RO3 R 3/8" 13 10,5 22 19 17 14,2
WTRSLO6RO4 R1/2" 13 135 | 255 19 21 173
WTRSLOBRO1 R1/8" | 15 7 213 | 228 12 15
WTRSLO8RO2 R1/4" | 15 05 | 215 | 228 14 133
——— 8
WIRSLO8RO3 R3/8" | 15 105 23 228 17| 203
WIRSLOBRO4 R1/2° | 15 135 | 265 | 228 21 219
WIRSLIORO1 R1/8 | 188 7 255 | 263 14 15,4
WTRSL10R02 R1/4" | 188 | 95 2 | 263 14 18,4
—————— 10
WTRSLTORO3 R3/8" | 188 | 105 25 26,3 17 210
WTRSL10RO4 R1/2° | 188 | 135 | 285 | 263 21 24,8
WTRSL12R02 R1/4° | 215 | 95 | 295 | 296 17| 336
WIRSLI2RO3 | 12 | R3/8" | 215 | 105 | 265 | 296 17| 362
WIRSL12R04 R1/2° | 215 | 135 30 | 296 21 395

drawings and technical data are not binding & can be changed without notice



WTR SERIES / PUSH-IN FITTINGS 15

WTRSL-G Short swivel male elbow BSPP & metric thread nickel-plated

12 CODE @D | T @ A L1 | 12  CH g

/l»* ] 1W\ WTRSLO4M5 M5x0,8 1m1 3,8 15,3 17,5 8 572

j : gg WIRSLOAM7 M7x1 ) 45 17 175 10 6/

§ B U WTRSLO4GO1 Gl/8 | 48 148 | 175 14 76
'ﬁ - : CH WTRSLO4G02 Gl/4" 11,1 55 16 175 17 11,3
i ‘ T WTRSLO6M5 M5x0,8 13 3,8 15,3 19 8 58
WTRSLO6M7 M7x1 13 4,5 7 19 10 6,7

WTRSLO6GO1 G1/8" 13 4,8 15,8 19 14 8,3

WTRSLO6G02 ¢ Gl1/4" 13 55 7 19 17 13,3

WTRSLO6GO3 G 3/8" 13 6,5 18,5 19 20 16,8

WTRSLO6GO4 G1/2" 13 75 19,5 19 24 20,1

WIRSLOSGO Gie | 151 | 48 | 20 | 228 | 14 | no

WTRSLO8G02 Gl/4" 15,1 55 18 22,8 17 13,8

WTRSLO8GO3 ’ G3/8" 15,1 6,5 19,5 22,8 20 21,2
WTRSLO8G04 G1/2" 15,1 7,5 20,5 22,8 24 23,9

WTRSL10GO1 G1/8" 18,8 4,8 24,3 26,3 14 21,3

WTRSL10G02 G1/4" 18,8 55 23,1 26,3 17 24,3

WTRSL10G03 " G 3/8" 18,8 6,5 21,5 26,3 20 27,6

WTRSL10G04 G1/2" 18,8 75 22,5 26,3 24 31,2

WIRSL12G02 i | 25 | 55 | 265 | 06 | 7 | 338
WTRSL12G03 12 G3/8" 21,5 6,5 23 29,6 20 356

WTRSL12G04 G1/2" 21,5 7.5 24 29,6 24 39,8

WTRL-R Swivel male elbow BSPT thread nickel-plated

CODE @D | T P | A L1 |12 CH g

WTRLO4RO1 R1/8" 11,1 7 23,5 175 10 8,1
WTRLO4R02 ‘ R1/4" 11,1 9.5 27 175 14 13,9

WTRLO6RO1 R1/8" 13 7 252 19 12 1,5
WTRLO6R0O2 R1/4" 13 9.5 28,2 19 14 16,5
WTRLO6R0O3 ¢ R3/8" 13 10,5 29,7 19 17 22,6
WTRLO6R04 R1/2" 13 13,5 33,2 19 21 359

WTRLO8RO1 R1/8" 15,1 7 26,5 22,8 14 176

WTRLO8RO2 R1/4" 15,1 9.5 29 22,8 14 177
WTRLO8RO3 ’ R3/8" 15,1 10,5 30,5 22,8 17 253
WTRLO8RO4 R1/2" 15,1 13,5 34 22,8 21 38,2
WTRL10RO1 R1/8" 18,8 7 29,5 26,3 17 30,7
WTRL10R02 R1/4" 18,8 9.5 32 26,3 17 31,4
WTRL10RO3 " R3/8" 18,8 10,5 33 26,3 17 30,8

WTRL10R04 R1/2" 18,8 13,5 36,5 26,3 21 473
WTRL12R02 R1/4" 21,5 9.5 355 29,6 20 44,3
WTRL12R03 12 R3/8" 21,5 10,5 36,5 29,6 20 46,7

WTRL12R04 R1/2" 21,5 13,5 39,5 29,6 21 51,2

WTRL14R03 R3/8" 23,2 10,5 41,5 31,7 21 53

WTRL14R04 “ R1/2" 23,2 13,5 45,5 31,7 24 62

WTRL16R03 R3/8" 26 10,5 43 33 24 67,6
WTRL16R04 © R1/2" 26 13,5 46 33 24 72,8

drawings and technical data are not binding & can be changed without notice



16 WTR SERIES / PUSH-IN FITTINGS

WTRL-G Swivel male elbow BSPP & metric thread nickel-plated
CODE @D T | @ A LI | 12 CH g
WTRLO4MS M5x0,8 1,1 3,8 17,3 17.5 8 51
WTRLO4M6E Mox1 1,1 4,5 18 17.5 8 53
WTRLO4GO1 ‘ G1/8" 11,1 5 24 175 14 11,8
WTRLO4G02 Gl1/4" 11,1 58 25,3 175 17 179
WTRLO6MS M5x0,8 13 3,8 173 19 8 58
WTRLO6M6E Mox1 13 4,5 18 19 8 6
WTRLO6GO1 G1/8" 13 5 252 19 14 14,6
WTRLO6GO02 © G1/4" 13 58 26,5 19 17 17,5
WTRLO6GO3 G 3/8" 13 6,8 28 19 20 24,4
WTRLO6GO4 G1/2" 13 8 29,2 19 24 384
WTRLO8GO1 G1/8" 15,1 5 26 22,8 14 175
WTRLO8GO02 Gl1/4" 15,1 58 273 22,8 17 20,5
WTRLO8GO3 ’ G 3/8" 15,1 6,8 28,8 22,8 20 26,6
WTRLO8G04 G1/2" 15,1 8 30 22,8 24 36,8
WTRL10GO1 G1/8" 18,8 5 29 26,3 17 31,2
WTRL10G02 G1/4" 18,8 58 29,8 26,3 17 30,5
WTRL10GO3 " G 3/8" 18,8 6,8 31,3 26,3 20 34,6
WTRL10G04 G1/2" 18,8 8 33,5 26,3 24 473
WTRL12G02 G1/4" 21,5 58 33,8 29,6 20 43,9
WTRL12GO03 12 G3/8" 21,5 6,8 34,8 29,6 20 44,5
WTRL12G04 G1/2" 21,5 8 36,5 29,6 24 51,8
WTRL14GO03 G 3/8" 23,2 6,8 39,8 31,7 21 52
WTRL14G04 h G1/2" 23,2 8 41,5 31,7 24 61
WTRL16G03 G 3/8" 26 6,8 40,8 33 24 64
WRL6Gos | | Gz | 26 | 8 | 42 | s | 24 | e6s

drawings and technical data are not binding & can be changed without notice



WTR SERIES / PUSH-IN FITTINGS 17

WTRLL-R Long swivel male elbow BSPT thread nickel-plated
—t CODE @D T oP | A L1 12 | CH 9
L] i 31% WTRLLO4RO1 . R1/8" 1,1 7 355 175 10 14,2
Il WTRLLO4R02 R1/4" 1,1 9.5 39 175 14 26,2
WTRLLOGRO] R1/8° | 13 7 | se2 | 0 12 22
- WTRLLOGRO2 Ri/4 | 13 | o5 | 422 | 19 4| 202
\@ WTRLLO4RO3 ° R3/8" 13 10,5 43,7 19 17 394
WTRLLO6R0O4 R1/2" 13 13,5 4772 19 21 62,9
<J ﬂi;ﬂu WTRLLO8RO1 R1/8" 15,1 7 41,8 22,8 14 34,6
WTRLLO8RO2 R1/4" 15,1 9.5 443 22,8 14 33,1
WTRLLOBRO3 ’ R3/8" 15,1 10,5 45,8 22,8 17 45,6
WTRLLO8RO4 R1/2" 15,1 13,5 49,3 22,8 21 70,1
WTRLLTORO1 R1/8" 18,8 7 49,5 26,3 17 61,2
WTRLLTORO2 R1/4" 18,8 95 52 26,3 17 62,5
WTRLLTORO3 " R3/8" 18,8 10,5 53 26,3 17 56,7
WTRLL1ORO4 R1/2" 18,8 13,5 56,5 26,3 21 8772
WTRLL12R02 R1/4" 21,5 95 58,5 296 20 86,7
WTRLLT12R03 12 R3/8" 21,5 10,5 59,5 296 20 100,7
WTRLL12R04 R1/2" 21,5 13,5 62,5 296 21 89,7
WTRLL-G Long swivel male elbow BSPP & metric thread nickel-plated
CODE @D T oP | A L1 12 | CH 9
WTRLLO4MS5 M5x0,8 1,1 3,8 293 175 8 10,4
WTRLLO4MS Mé6x1 1,1 4,5 30 175 8 10,8
WTRLLO4GO1 ‘ G1/8" 11,1 5 36 175 14 259
WTRLLO4GO02 G 1/4" 1,1 58 373 175 17 26,6
WTRLLO6M5S M5x0,8 13 3,8 31,3 19 8 1.4
WTRLLO6MS Mbx1 13 4.5 32 19 8 11,8
WTRLLO6GO1 G1/8" 13 5 392 19 14 30,5
WTRLLO6GO02 ° Gl1/4" 13 58 40,5 19 17 43,3
WTRLLO6GO3 G 3/8" 13 6,8 42 19 20 57
WTRLLO6GO4 G1/2" 13 8 43,2 19 24 Q1.5
WTRLLOBGO1 G1/8" 15,1 5 413 22,8 14 35,4
WTRLLO8GO02 G1/4" 15,1 58 42,6 22,8 17 48
WTRLLOBGO3 ’ G 3/8" 15,1 6,8 44 22,8 20 60,3
WTRLLO8GO04 G1/2" 15,1 8 45,3 22,8 24 93,7
WTRLLT1OGO1 G1/8" 18,8 5 49 26,3 17 61,8
WTRLL10G02 Gl1/4" 18,8 58 49,8 26,3 17 68,7
WTRLL10GO3 0 G 3/8" 18,8 6,8 51,3 26,3 20 78,7
WTRLL10G04 G1/2" 18,8 8 53,5 26,3 24 105,8
WTRLL12G02 Gl/4" 21,5 58 56,8 29,6 20 98,1
WTRLL12G03 12 G 3/8" 21,5 6,8 578 29,6 20 101,9
WTRLL12G04 G1/2" 21,5 8 595 296 24 124,3

drawings and technical data are not binding & can be changed without notice



18 WTR SERIES / PUSH-IN FITTINGS

WTRLH-R Swivel male elbow 45° BSPT thread nickel-plated
CODE oD | T P | A LI |12 CH g
WTRLHO4RO1 R1/8" 11,1 7 22,2 16,2 10 8
WTRLHO4R02 ‘ R1/4" 11,1 9.5 257 16,2 14 13,8
WTRLHO6RO1 R1/8" 13 7 23,9 177 12 1
WTRLHO6R02 R1/4" 13 9.5 26,9 177 14 16
WTRLHO6RO3 © R3/8" 13 10,5 28,4 177 17 22,2
WTRLHO6R04 R1/2" 13 13,5 31,9 177 21 354
WTRLHO8RO1 R1/8" 15,1 7 271 20,9 14 17,3
WTRLHO8RO2 R1/4" 15,1 9.5 29,6 20,9 14 174
WTRLHO8RO3 ’ R3/8" 15,1 10,5 31,1 20,9 17 25
WTRLHO8RO4 R1/2" 15,1 13,5 34,6 20,9 21 379
WTRLHTORO1 R1/8" 18,8 7 29,7 22,2 17 30
WTRLHTORO2 R1/4" 18,8 9.5 32,2 22,2 17 30,7
WTRLHTORO3 " R3/8" 18,8 10,5 33,2 22,2 17 30,1
WTRLH10R04 R1/2" 18,8 13,5 36,7 22,2 21 46,6
WTRLH12R02 R1/4" 21,5 9.5 352 26,3 20 42,6
WTRLH12R03 12 R3/8" 21,5 10,5 36,2 26,3 20 45
WTRLH12R04 R1/2" 21,5 13,5 39,2 26,3 21 49,5
WTRLH-G Swivel male elbow 45° BSPP & metric thread nickel-plated
CODE @D | T P | A LI | 12 CH g
WTRLHO4MS M5x0,8 1,1 3,8 20 16,2 10 8,1
WTRLHO4M6 M6x1 11,1 4,5 20,7 16,2 10 8,3
WTRLHO4GO1 ‘ G1/8" 11,1 5 22,7 16,2 14 1,7
WTRLH04G02 G1/4 1,1 58 24 16,2 17 17,8
WTRLHO6MS5 M5x0,8 13 3,8 21,7 177 12 10,8
WTRLHO6M6 Mox1 13 4,5 22,4 177 12 11,5
WTRLHO6GO1 G1/8" 13 5 23,9 177 14 14,2
WTRLHO6G02 © Gl1/4" 13 58 252 177 17 175
WIRLH06GO3 Gas | 138 | 68 | 267 | 77 | 20 | 2
WTRLHO6G04 G1/2" 13 8 279 177 24 38
WTRLHO8GO1 G1/8" 15,1 5 26,6 20,9 14 172
WTRLHO8G02 G1/4" 15,1 58 279 20,9 17 20,2
WTRLHO8GO03 ’ G 3/8" 15,1 6,8 29,4 20,9 20 26,3
WTRLHO8G04 G1/2" 15,1 8 30,6 20,9 24 36,5
WTRLHT0GO1 G1/8" 18,8 5 29,2 22,2 17 30,6
WIRLH10G02 Gia | 188 | 58 | 30 | 22 | 17 | 299
WTRLH10GO3 ° G3/8" 18,8 6,8 31,5 22,2 20 34
WTRLH10G04 G1/2" 18,8 8 33,7 22,2 24 46,7
WTRLH12G02 G1/4" 21,5 58 33,5 26,3 20 42,4
WTRLH12G03 12 G 3/8" 21,5 6,8 34,5 26,3 20 43
WTRLH12G04 G1/2" 21,5 8 36,2 26,3 24 50,3

drawings and technical data are not binding & can be changed without notice



WTR SERIES / PUSH-IN FITTINGS 19

WTRLF-G Swivel female elbow BSPP & metric thread nickel-plated
L2
F—‘W CODE @D T oP | A L1 12 | CH 9
. 74”%77:: 81% WTRLFO4M5 M5x0,8 1,1 4,5 19.5 175 10 74
{ —-H4 WTRLFO4M6 M6x1 11,1 5 20 175 10 72
e WIRFO4G01 | | G | 7 23 175 4| 139
= % WTRLFO4G02 G1/4" 11,1 Q 25 175 17 18,2
e £ < H ‘ W WTRLFO6M5 M5x0,8 13 45 20,7 19 12 10,6
o i i \\@ WTRLFO6M6 Mbx1 13 5 21,2 19 12 10,4
. WTRLFO4GO1 6 G1/8" 13 7 24,4 19 14 16,4
WTRLFO6G02 G1/4" 13 Q 26,4 19 17 21,3
WTRLFO6GO03 G 3/8" 13 10 277 19 19 30
WTRLFO8GO1 G1/8" 15,1 7 24,8 22,8 14 19,4
WTRLFO8G02 Gi/a | s 9 7 | 208 | 17 | o4
WTRLFO8GO03 ¢ G 3/8" 15,1 10 28,5 22,8 19 32,4
WTRLFO8G04 G1/2" 151 12 30,5 228 24 41,6
WTRLF10GO1 G1/8" 18,8 7 23 26,3 17 277
WTRLF10G02 G1/4" 18,8 Q 29,5 26,3 17 33,8
WTRLF10G03 N G 3/8" 18,8 10 31 26,3 19 34,3
WTRLF10G04 G1/2" 18,8 12 33,5 26,3 24 512
WTRLF12G02 i | a5 9 2 | 206 | 21 | 367
WTRLF12G03 12 G 3/8" 21,5 10 34 29,6 21 49,2
WTRLF12G04 G1/2" 21,5 12 36,5 296 24 54,7
WTRLM Bulkhead swivel elbow nickel-plated
-2 CODE @D T | @ AMAX L1 | 12 CHI CH2 g
ﬂii 7“ ala WTRLMO4 4 M12x1 11,1 4,1 28,5 175 14 14 15
o ‘ 71 7‘ Qt& WTRLMO6 6 M14x1 13 57 34,1 19 17 17 2772
‘ CH1 WTRLMO8 8 M16x1 15,1 772 40,6 22,8 17 19 38
- [ij_ﬁ WTRIM10 10 M20x1 18,8 74 455 26,3 21 24 55
B T 5 o WIRIMI2 | 12 | M22a0 | 215 | 97 | 516 | 296 | 24 | 27 | 85
jeuscgd
I I
Y i1 1]
EN

drawings and technical data are not binding & can be changed without notice



20 WTR SERIES / PUSH-IN FITTINGS

WTRH-R Swivel male banjo elbow BSPT thread nickel-plated
L2

CH CODE @D T P A L1 L2 CH e}
w WTRHO4RO1 R1/8 | 0 7 23 | 223 10 105
_,L,,::’fﬁa WIRHO4RO2 | | ria | 1 95 | 203 | 24 14 210

p ! w H S WTRHO6RO1 R1/8" 13 7 23 231 10 N
\'“_"*E;d-‘j ﬁ%ﬁ WTRHO6RO2 6 R1/4" 13 o5 | 263 | 251 14 225
< 1 ”\t WTRHO6RO3 R3/8" 13 105 | 319 | 268 19 378

WTRHO8RO1 R1/8 | 15 7 23 | 256 | 10 1,8
WTRHO8RO2 R1/4" | 15 o5 | 263 | 286 4| 233
WTRHOSRO3 ® ke | 151 | 05 | a0 | 290 19 | 384
WTRHO8RO4 R1/2% | 150 | 135 | 386 | 326 | 24 | 754
WTRH10R02 R1/4° | 188 | 95 | 263 | 3l 4| 267

WITRHIORO3 | 10 | R3/8" | 188 | 105 | 319 | 316 19 | a8
WTRH10RO4 R1/2° | 188 | 135 | 386 | 346 | 24 | 788
WTRH12R02 R1/4 | 215 | 95 | 263 | 335 4| 282
WTRHI2RO3 | 12 | R3/8" | 215 | 105 | 319 | 356 19 | 434
 WITRHI2RO4 | R1/2 | 215 | 135 | 386 | 366 | 24 | 803
WTRH-G Swivel male banjo elbow BSPP & metric thread nickel-plated

":—iA CODE @D T P A L1 L2 CH e}

7@ WTRHO4MS5 M508 | 11 4 18 20 8 66

l = WTRHO4M6 4 Méx] ) 45 | 185 | 20 8 1,8

5 “*%3“@% WITRH04GO1 Gl/8" | M) 5 25 | 223 10 5

‘ 1 H WTRHO6MS5 M508 | 13 4 18 29 8 72
B i K WTRHO6M6 . Méx1 13 45 | 185 | 219 8 12,4

\ T WTRH06GO!1 G1/8" 13 5 22,5 23,1 10 12

WIRHO6G02 G4 | 13 58 | 262 | 25 14 23

WTRHO8GO1 G1/8" | 15 5 25 | 256 | 10 12,8
WIRHO8G02 | 8 | Gl/4" | 15 58 | 202 | 286 4| 238
WTRHO8GO03 G3/8" | 15 68 | 37 | 296 19 | 409

WITRH10G02 Gl/4 | 188 | 58 | 202 | 3 4| 272
WIRH10G03 | | Gam | s | es | a7 | a6 19 | 443
WITRH12G03 G3/8" | 25 | 68 | 317 | 356 19 | 459
WIRH12604 |~ | i/ | 25 8 70 | 366 | 24 | 793

drawings and technical data are not binding & can be changed without notice



WTR SERIES / PUSH-IN FITTINGS

WTRHF-R Swivel female banjo elbow BSPT thread nickel-plated
ﬁ o CODE @D Tl T2 OP | A1 |A2 | L1 12 |[CH| g

B i 1 i Y WTRHFO4RO1 . R1/8" G1/8" | n1| 7 7 129 [223] 14 | 164

! WTRHFO4R02 R1/4" G1/4” | M1 |95 | 9 333|241 | 17 | 274
- W*J‘r*%*f* :%J% WTRHFO6RO1 R1/8" G/ | 13| 7 | 7 | 290|231 14|17
‘ H] WTRHFO6R02 6 R1/4" Gl/4" | 13 | 95| 9 |333|251 | 17 | 28

ET | WTRHFO6R03 R3/8" G3/8" | 13 | 105| 10 | 399|268 19 | 448
”Lz WTRHFO8RO1 R1/8" | G1/8" | 150 | 7 | 7 | 29 |256| 14 | 178

WTRHFO8R02 R1/4" Gl/4" | 1511 95| 9 |333 286 17 |288

WTRHFO8RO3 ’ R3/8" G3/8" | 151105 | 10 | 399|296 19 | 454

WTRHFO8RO4 R1/2" G1/2" | 151 135 12 | 465 |326| 24 | 719

WTRHF10R02 R1/4" Gl1/4” | 18895 | 9 [333| 31 | 17 |322

WTRHF10R03 10 R3/8" G3/8" | 188 |105| 10 | 399 31,6 | 19 |488

WTRHF10R04 R1/2" G1/2" | 188|135 | 12 | 465 346 | 24 | 753

WTRHF12R02 R1/4" Gl/4" | 215 95| 9 |333(335 | 17 |337

WTRHF12R03 12 R3/8" G3/8" | 215]105| 10 | 399|356 19 | 504

WTRHF12R04 R1/2" G1/2" | 215 135| 12 | 465|366 | 24 | 768

WTRHF-G Swivel female banjo elbow BSPP & metric thread nickel-plated
F% CODE @D | T T2 |@P Al A2 L1 L2 |CH ¢
TR | N i ‘ | /C*H WTRHFO4M5 M5:08 | M5x08 | 111 | 4 | 55 |205| 20 | 10 | 83
-4} WTRHFO4M6 4 Mox] Moxl | 111 45| 6 | 21| 20 | 10 | 83
- 777477:#77748]% WTRHF04GO1 Gl/8 | Gi/8 | i | 55| 7 | 30 | 223 14 | 184
= ! H WTRHFO6M5 M5:08 | M5x08 | 13 | 4 | 55 205|219 | 10 | 89
_ ‘ WTRHFO6M6 Méx] Méx] 13 45| 6 | 21 |219] 10 | 89
<T T WTRHFO6GO1 ° G1/8" G1/8" 13 |55 7 30 | 231 14 | 19
5 WTRHF06G02 Gl | Gi/a | 13 | 65| 9 337|251 17 | 305
WTRHFO8GO1 Gl/8 | G1/8" | 15155 | 7 | 30 |256| 14 | 198
WTRHF08G02 | 8 Gl/a | ci/4a | 151 ] 65| 9 | 337 286 17 | 313
WTRHFO8G03 G3/8 | G3/8" | 151 ] 75 | 10 | 397 296 | 19 | 479
WTRHF10G02 Gl/a | Gi/a | 188 65 | 9 337 311 | 7 | 347
WIRHFI0G03 | | G 3/8" | G3/8" | 188 75 | 10 [397 |36 19 | 513
WTRHF12G03 G3/8" | G3/8" |25 75 | 10 397|356 19 | 529
WIRHFI2G04 | | © 1/ G2 25| 9 | 12 | 45 | 366 | 24 | 773

drawings and technical data are not binding & can be changed without notice

21



22 WTR SERIES / PUSH-IN FITTINGS

WTRT-R Swivel male central tee BSPT thread nickel-plated
.L—‘ CODE oD T oP A L1 L2 CH g
N \‘ Di R WTRTO4RO1 . R1/8" 1,1 7 245 | 185 10 10,5
N A WTRTO4R02 R1/24% | M) 9,5 28 18,5 14 163

WIRTO6RO R1/8° | 13 70 ass | s | o2 | o4
WITRTO6R02 Ri/e | 13 | 95 | 285 | 193 | 14 | a9
e WIRTOeR03 | | rese | 13 | 105 | 0 | w3 | 7 | 252
h WIRTO6RO4 Ri/2 | 13 | 135 | 335 | 193 | 21 | 385
WTRTO8RO1 R1/8" 15,1 7 29 22,7 14 20,9
WTRTO8RO2 R1/4" 15,1 9.5 31,4 22,7 14 21
WIRTOSRO3 | | rass | 151 | 105 | w29 | 227 | 17 | 286
WIRTO8ROA Ri/2 | 151 | s | sea | 227 | 20 | ais
WIRT10RO Ri/er | 188 | 7 | sas | 27 | 17 | are
WIRT10R02 R/ | 188 | 95 | w7 | 27 | 17 | 386
WIRTIORO3 | | re/er | 188 | 105 | 8 | 27 17| 38
WTRT10R04 R1/2" 18,8 13,5 41,5 27 21 54,5
WTRT12R02 R1/4" 21,5 9.5 38,5 29,6 20 52,8
WIRTI2RO3 | 12 | R3/8 | 215 | 105 | 395 | 296 | 20 | 552
WIRT12R04 R1/2 | 25 | 135 | 425 | 206 | 2 | s97
WIRT16R03 R3/8" | 26 | 105 | 43 | 33 | 24 | @
WRTIeR04 | | ri2 | 26 | 135 | 46 | 3 | 24 | 855
WTRT-G Swivel male central tee BSPP & metric thread nickel-plated
CODE oD T oP A L1 L2 CH e}
WTRTO4MS M508 | 11 | 38 | 223 | 185 | 10 | 106
WTRTO4Mb M6x1 11,1 4,5 23 18,5 10 10,8
WTRT04GO01 ‘ G1/8" 11,1 5 25 18,5 14 14,2
WITRTO4G02 Gi/a | 1 | 58 | 263 | 185 | 17 | 203
WITRTO6M5 M508 | 13 | 38 | 233 | 193 | 12 | 139
WITRTO6M6 Méx] 13| as | 24 |93 | 2 | e
WIRTO6GO] Gi/8 | 13 5| 255 | w3 | 4 | 72
WiRtoeGo2 | © | G | 1 | se | 268 | s | 17| 208
WITRT06GO3 Ga/e | 13 | 68 | 283 | 198 | 20 | 2
WTRT06G04 G1/2" 13 8 29,5 19,3 24 41
WTRTO8GO1 G1/8" 15,1 5 28,4 22,7 14 20,8
WIRTO8GO2 Gi/a | 151 | 58 | 297 | 227 | 77 | 238
WIR08G03 | | o3/ | 151 | ee | a2 | 227 | 20 | 299
WIRTO8GO4 G1/2 | 151 8 | 324 | 27 | 24 | a0
WIRT10GO] Gi/e | 188 | s | o7 17| 384
WITRT10G02 G1/4" 18,8 58 34,8 27 17 377
WIRTI0G03 | | ca/e | w88 | 68 | 363 | 27 | 20 | 48
WIRT10G04 Gi/2 | 188 | 8 | 385 | 27 | 24 | 545
WIRT12G02 Gi/a | 25 | 58 | 368 | 296 | 2 | 524
WIRTI2G03 | 12 | G3/8" | 215 | 68 | 378 | 296 | 2l 53
WIRT12G04 G2 | 215 | 8 | 395 | 26 | 24 | 603
WIRT14G03 Ga/e | 232 | 68 | 398 | 317 | 2 o
WRTI4G04 | | i | 22 | e | as | a7 | 24 | e
WTRT16G03 G3/8" 26 6,8 40,8 33 24 76,6
WTRT16G04 © G1/2" 26 8 42 33 24 794

drawings and technical data are not binding & can be changed without notice



WTR SERIES / PUSH-IN FITTINGS 23

WTRST-R Swivel male lateral tee BSPT thread nickel-plated
oP
2D CODE @D T (7] A L1 L2 CH g
e — WTRSTO4RO1 R1/8" n1 7 24,5 18,5 10 10,5
S WTRSTO4R02 ‘ R1/4" 1,1 95 28 18,5 14 16,3
77,::?& 7,7,j?‘ WTRSTO6RO1 R1/8" 13 7 25,5 19,3 12 14,1
‘ I = WTRSTO6R02 R1/4" 13 9.5 28,5 19,3 14 19,1
. < T j]m WTRSTO6R03 ° R 3/8 13 10,5 30 19,3 17 25,2
! WTRSTO6RO4 R1/2 13 | 135 | 335 | 193 | 2 | 385
o ) | N WTRSTO8RO1 R1/8 | 15 7 20 | 227 | 14 | 209
WTRSTO8R0O2 R1/4" 15,1 95 31,4 22,7 14 21
WTRSTO8RO3 ’ R3/8" 15,1 10,5 329 22,7 17 28,6
WTRSTO8R0O4 R1/2" 15,1 13,5 36,4 22,7 21 41,5
WTRST10RO1 R1/8" 18,8 7 34,5 27 17 379
WTRST10R02 R1/4" 18,8 9.5 37 27 17 38,6
WTRST10RO3 N R3/8" 18,8 10,5 38 27 17 38
WTRST10R04 R1/2" 18,8 13,5 41,5 27 21 54,5
WTRST12R02 R1/4" 21,5 95 38,5 29,6 20 52,8
WTRST12R03 12 R3/8" 21,5 10,5 39,5 29,6 20 552
WTRST12R04 R1/2" 21,5 13,5 42,5 29,6 21 597
WTRST-G Swivel male lateral tee BSPP & metric thread nickel-plated
o5 CODE | @D | T @b | A L1 | 12 CH g
[ == WTRSTO4MS M508 | 11 | 38 | 223 | 185 | 10 | 108
. S — WTRSTO4M6 M6xT 1, 45 23 18,5 10 n
} § — WiRSTO4G01 | | G| 5 25 18,5 14 14,5
_ WTRST04G02 Gl1/4" 1,1 58 26,3 18,5 17 20,6
- WTRSTO6M5 M5x0,8 13 3,8 23,3 19,3 12 14,5
iE TCH WTRSTO6MS Mé6x1 13 4,5 24 19,3 12 15,1
WTRSTO6GO1 G1/8" 13 5 25,5 19,3 14 17,7
WTRST06G02 © G 1/4" 13 58 26,8 19,3 17 21
WTRST06GO03 G 3/8" 13 6,8 28,3 19,3 20 27,5
WTRST06G04 G1/2" 13 8 29,5 19,3 24 41,5
WTRSTO8GO1 G1/8" 15,1 5 28,4 22,7 14 20,9
WTRSTO08G02 G1/4" 15,1 58 297 227 17 239
WTRSTO8GO03 ’ G3/8" 15,1 6,8 31,2 22,7 20 30
WTRST08G04 G1/2" 15,1 8 32,4 22,7 24 40,2
WTRST10GO1 G1/8" 18,8 5 34 27 17 38,8
WTRST10G02 Gl1/4" 18,8 58 34,8 27 17 38,1
WTRST10G03 ° G3/8" 18,8 6,8 36,3 27 20 422
WTRST10G04 G1/2" 18,8 8 38,5 27 24 54,9
WTRST12G02 G1/4" 21,5 58 36,8 29,6 21 53,2
WTRST12G03 12 G 3/8" 21,5 6,8 37,8 29,6 21 53,8
WTRST12G04 G1/2" 21,5 8 39,5 29,6 24 61,1

drawings and technical data are not binding & can be changed without notice



24 WTR SERIES / PUSH-IN FITTINGS

WTRWT-R Swivel male Y BSPT thread nickel-plated
oP
oD CODE @D T @P @C A L1 12 CH g
K‘ﬂ»?Tf? WTRWTO4RO1 R1/8" 11,1 3,2 7 41,5 14 10 10,7
. ! ! WTRWTO4R02 ‘ R1/4" 1,1 3,2 Q5 45 14 14 16,6
_ $ + WTRWTO6RO1 R1/8" 13 3,2 7 43,3 14,8 12 14,6
- | gc WTRWTO6R02 R1/4" 13 3,2 9.5 46,3 14,8 14 19,6
! WTRWTO6R03 © R 3/8" 13 3,2 10,5 478 14,8 17 258
; < CH WTRWTO6R04 R1/2" 13 3,2 13,5 51,3 14,8 21 39
\E WTRWTO8RO1 R1/8" 15,1 3,2 7 46,6 18,2 14 21
WTRWTO8R02 R1/4" 15,1 3,2 9,5 491 18,2 14 21,1
WTRWTO8RO3 ’ R 3/8" 15,1 3,2 10,5 50,6 18,2 17 28,7
WTRWTO8R04 R1/2" 15,1 3,2 13,5 54,1 18,2 21 41,6
WTRWTI10RO1 R1/8" 18,8 472 7 54,6 19,5 17 38,3
WTRWT10R02 R1/4" 18,8 472 95 571 19.5 17 39
WTRWT10R03 N R 3/8" 18,8 472 10,5 58,1 19.5 17 38,4
WTRWT10R04 R1/2" 18,8 4,2 13,5 61,6 19.5 21 54,9
WTRWT12R02 R1/4" 21,5 4,3 95 62,1 21,6 21 53,6
WTRWT12R03 12 R3/8" 21,5 4,3 10,5 63,1 21,6 21 46
WTRWT12R04 R1/2" 21,5 4,3 13,5 66,1 21,6 21 60,5
WTRWT-G Swivel male Y BSPP & metric thread nickel-plated
CODE @D T @P @C A L1 12 CH g
WTRWTO04M5 M5x0,8 1,1 3,2 3,8 39,3 14 10 10,8
WTRWT04Mb Mbx1 1,1 3,2 4,5 40 14 10 11
WTRWTO04GO1 ‘ G1/8" 1,1 3,2 5 42 14 14 14,5
WTRWT04G02 Gl1/4" 1,1 3,2 58 43,3 14 17 20,6
WTRWTO6MS M5x0,8 13 3,2 3,8 411 14,8 12 14,5
WTRWTO6MbE Mox1 13 3,2 4.5 41,8 14,8 12 15,1
WTRWTO06GO1 G1/8" 13 3,2 5 43,3 14,8 14 177
WTRWT06G02 © Gl1/4" 13 3,2 58 44,6 14,8 17 21
WTRWTO06GO03 G 3/8" 13 3,2 6,8 46,1 14,8 20 275
WTRWT06G04 G1/2" 13 3,2 8 473 14,8 24 41,5
WTRWTO8GO1 G1/8" 15,1 3,2 5 46,1 18,2 14 20,9
WTRWT08G02 Gl1/4" 15,1 3,2 58 474 18,2 17 23,9
WTRWTO08G03 ’ G 3/8" 15,1 3,2 6,8 48,9 18,2 20 30
WTRWT08G04 G1/2" 15,1 3,2 8 50,1 18,2 24 40,2
WTRWTI10GO1 G1/8" 18,8 4,2 5 54,1 19,5 17 38,8
WTRWT10G02 Gl1/4" 18,8 4,2 58 54,9 19,5 17 38,1
WTRWT10G03 0 G 3/8" 18,8 4,2 6,8 56,4 19,5 20 4272
WTRWT10G04 G1/2" 18,8 4,2 8 58,6 19,5 24 54,9
WTRWT12G02 Gl1/4" 21,5 4,3 58 60,4 21,6 21 53,2
WTRWT12G03 12 G 3/8" 21,5 4,3 6,8 614 21,6 21 53,8
WTRWT12G04 G1/2" 21,5 4,3 8 63,1 21,6 24 61,1

drawings and technical data are not binding & can be changed without notice



WTR SERIES / PUSH-IN FITTINGS 25

WTRKD-R Swivel multi-tee lateral male connector BSPT thread nickel-plated
| L2
ggl CODE @D1 D2 T @P11@P2 @C| A [ L1 | L2 | J |[CH| ¢
0 WTRKDO604RO1 | & 4 | R1/8" |13 | 1|32 7 |e38| 19 | 36 | 12 | 174
‘@ WTRKDO804R02 | 8 4 | R1/4 150 | 11|32 95 |71,3] 20 | 42 | 14 | 23)
2
== ’\}D',gl WTRKDO806RO2 | 8 6 | R1/4" 1151 13 132 |95 (71,3/203]| 42 | 14 | 2472
! a!'s
{‘ 1 WTRKD1008R03 | 10 8 | R3/8" 188|151 | 42 [105| o1 |243| 48 | 17 | 402
Bi===ti

1]

WTRKD-G Swivel multi-tee lateral male connector BSPP thread nickel-plated
| L2
331 CODE @bl @D2, T |@P1|@P2/@C A |L1|Ll2|J CH g
;;E; WTRKD0404GO1| 6 4 [G1/8 | 13 | 1|32 ] 5 |638] 19 | 36 | 14 205
i L WTRKD0O804G02| 8 4 [ G1/4" |50 | N1 | 32 | 58 |696] 20 | 42 | 17 | 26
*T%Ji HF gtgl WTRKD0806G02 | 8 6 | G1/4" [ 151151 32 | 58 | 696|203 | 42 | 17 | 27
f A
! —— WTRKD1008G03| 10 8 | G3/8" 188|151 | 42 | 68 | 893|243 | 48 | 20 | 44
<= -
- | b0
- ‘ — el
-
| e
i

drawings and technical data are not binding & can be changed without notice



26 WTR SERIES / PUSH-IN FITTINGS

WTRUC Union connector
aP
20 CODE D oP L g
=== WTRUC0400 4 1 33 42
} WTRUCO500 5 12,8 352 5
. {{%}# WTRUC0600 6 13 352 5,2
} WTRUC0700 7 14,5 39,1 7
\ WTRUCO800 8 15, 39, 68
o WTRUCO900 9 18,8 452 14
WTRUC1000 10 18,8 484 14
WTRUC1100 N 212 49,2 17
WTRUC1200 12 25 49,2 16,4
WTRUC1400 14 232 484 18
WTRUC1500 15 2538 5] 25
WTRUC1600 16 2 51 245
WTRG Reduced union connector
P2
2D2 CODE D1 @D2 oOP1 P2 L g
T WITRG0604 6 4 13 1] 336 502
WITRG0804 8 4 15, 1] 34 58
| B WTRG0805 8 5 15, 12,8 355 6
WTRG0806 8 6 15, 13 36,1 68
WITRG1007 10 7 18,8 145 28 10
T T WTRG1008 10 8 18,8 151 418 12,7
201 WTRG1207 12 7 21,5 14,5 46,9 13
om WIRG1208 12 8 20,5 151 469 14]
WIRG1210 12 10 25 18,8 477 166
WIRG1410 14 10 232 18,8 483 17
WIRG1412 14 12 23,2 215 483 17
WIRG1610 16 10 2 18,8 485 24,3
WIRG1612 16 12 2 25 50,1 2
WIRG1614 16 14 2 23,2 50 28
WTRUL Union elbow
L CODE @D (%]4 oC L g
T WTRULO400 4 1] 32 175 42
\fi—j—f Jng% WTRULO600 6 13 32 19 55
= 3 il WTRULO80O 8 15,1 3,2 22,8 73
- B e WTRUL1000 10 18,8 42 26,3 14,3
EEEE WTRUL1200 12 2,5 43 20,6 182
WTRUL1400 14 23,2 50 317 23
WTRUL1600 16 2 50 33 27

drawings and technical data are not binding & can be changed without notice



WTR SERIES / PUSH-IN FITTINGS 27

WTRUT Union tee
CODE @D P aC L g
T WTRUT0400 4 11,1 3,2 18,5 6,5
— 1818 WTRUTO600 6 13 32 19,3 8]
il WITRUTO800 8 15, 32 27 106
ac WTRUT1000 10 18,8 42 27 21,4
WTRUT1200 12 2,5 43 20,6 26,7
WTRUT1400 14 23,2 51 31,7 31
WTRUT1600 16 26 5,1 33 39,7
WTRGT Reduced union tee
CODE @D1 D2 | OP1 P2 aC L1 L2 g
= WTRGT0604 6 4 13 1,1 3,2 19,5 19,3 8,1
WTRGT0804 8 4 15,1 11,1 3,2 19,8 228 98
WTRGT0806 8 6 15,1 13 3,2 20,3 228 10,6
WTRGT1008 10 8 18,8 15,1 4,2 24,8 27 20,2
WTRGT1210 12 10 21,5 18,8 4,2 28,5 296 26,9
WTRGT1612 16 12 26 21,5 51 32,1 33 419
WTRY Union Y
oP
@D CODE @D oP @C L1 L2 g
e SE=mi WTRY0400 4 i 32 35,5 14 68
3 ‘ ‘ WTRY0600 6 13 32 371 148 86
1 “r 1/ 1 “r 1 WTRY0800 8 15,1 3,2 40,4 18,2 10,7
- e : == ‘ WTRY1000 10 188 42 47 19,5 28
1 WTRY 1200 12 21,5 4,2 53,2 21,6 275
! WTRY 1600 16 26 51 61 23,5 33,5
WTRW Reduced union Y
@P2
202 CODE @D1 | @D2 | @P1 | @P2 | @C L1 L2 g
pESrmnEsn WTRW0604 6 4 13 1 32 | 368 | 145 | 92
3 1 1 WTRWO0806 8 6 15,1 13 3,2 399 177 11,4
- ;J;:w’l’ WTRW 1008 10 8 18,8 15,1 4,2 479 20,3 21,8
ac ’J‘“’ WTRW1210 12 10 21,5 18,8 4,2 51,6 20 293
|
S
BD
aP1

drawings and technical data are not binding & can be changed without notice



28 WTR SERIES / PUSH-IN FITTINGS

WTRZA Union cross
CODE @D oP @C L g
WTRZA0400 4 I 3,2 175 8
WTRZA0600 6 13 3.2 19,3 102
WTRZA0800 8 15, 3,2 27 136
WTRZA1000 10 18,8 42 27 282
| WTRZA1200 12 25 43 29,6 34,2
\
WTRK Union multi-tee
o5
R —— CODE @D oP aC L1 L2 J g
’ @/ﬂ WTRKO4 4 1 3,2 57 19 36 13
s — :J\rg% WTRKO6 6 13 32 616 20,3 42 17
4 WTRKOS 8 15, 3,2 816 243 48 22
St -
‘ &
i
=S
L2
WTRKG Reduced union multi-tee
57
EacE=s CODE @D1 |OD2 @P1 @P2 @C | L1 | 12 | J g
i M WTRKG0604 6 4 13| N1 32 | 576 | 19 | 36 13
SE %g‘,g WTRKG0804 8 4 150 1 0 32 | 626 | 20 | 42 16
. : e WTRKG0806 8 6 150 | 13 32 | 626 | 203 | 42 | 166
i WTRKG1006 | 10 6 | 188 | 13 | 42 | 8 | 238 | 48 28
4 j WTRKG 1008 10 8 188 | 151 | 42 80 | 243 | 48 | 308
L2
WTRGJ Stem reduction
;;2 CODE @D1 @D2 P L1 L2 g
_ C WTRGJ0604 6 4 1] 39,5 14 14
o WTRGJ0804 8 4 1 41,5 14 27
WTRGJO806 8 6 13 418 14,3 2
- WTRGJ1006 10 6 13 46,8 173 3,8
WTRGJ1008 10 8 15, 473 178 2,8
WTRGJ1206 12 6 13 518 19,3 77
201 WTRGJ1208 12 8 15,1 52,3 19,8 64
WTRGJ1210 12 10 18,8 51,5 19 42

drawings and technical data are not binding & can be changed without notice



WTR SERIES / PUSH-IN FITTINGS 29

WTRL)J Elbow with stem
L2 CODE [7%]»] (%]d L1 L2 e}
[ = WTRLJ0400 4 11,1 33,7 175 6,5
3 SIS
\ I§ WTRLJ0600 6 13 34,9 19 8,1
‘ WTRLJO800 8 15,1 39,1 22,8 10,6
o WTRLJ1000 10 18,8 46,1 26,3 214
WTRL 1200 12 21,5 52,2 296 26,7
20]
WTRLGJ Reduced elbow with stem
L2
CODE D1 D2 P P2 aC L1 L2 e}
1 il B‘t N WIRLGJ0604 6 4 13 1,1 32 337 175 87
I QD
| 4 WITRLGJO806 8 6 15, 13 32 | 383 19 13,7
L oc WTRLGJ1008 10 8 188 | 15, 42 | asn | 228 | 194
5 WTRLGJ1210 12 10 21,5 18,8 4,2 53,5 26,3 34,6
ENLARGED ELBOW WITH STEM
WTRLGJ0406 ‘ 4 ‘ 6 ‘ 11,1 ‘ 13 ‘ 3,2 ‘ 33,7 ‘ 19 ‘ 8,7
@D1
WTRTJ Tee with stem
‘ L2
L CODE D1 D2 P L1 L2 C g
JF:/ - Thsk WIRTJO4 4 4 n 347 % 202
HH = s A Tl [
H Vi ELY WIRTJO6 6 6 13 35,2 386 20,2
‘ WIRTJO8 8 8 15,1 416 457 236
‘ _ WIRTJ10 10 10 18,8 510 576 28]
-
‘ WIRTJ12 12 12 25 552 588 312
| (@]
|
1201
WTRTGJ Reduced tee with stem
L2
‘ CODE D1 D2 P aC L1 L2 C g
AT 5
1 T WTRTGJ0604 6 4 11,1 3,2 34,7 37 20,2
| | Q ' i / ,
EanEi
e Il WIRTGJ0806 8 6 13 32 | 386 | 386 | 236
@W WTRTGJ1008 10 8 15,1 3,2 46,1 45,7 28,1
‘ - WIRTGJ1210 12 10 188 | 42 | 542 | 576 | 312
-
N
I
|
@D1

drawings and technical data are not binding & can be changed without notice



30 WTR SERIES / PUSH-IN FITTINGS

WTRYJ Union Y with stem
P
7%,—“3:7 CODE @D P @C L1 L2 g
o it WTRYJO400 4 ") 32 517 14 102
Y= — WTRYJ0600 6 13 3,2 53 14,8 14,4
ac - WTRYJO800 8 151 3,2 503 18,3 20,4
‘ ; WTRYJ1000 10 18,8 4,2 73 21,3 38,1
i WTRYJ1200 12 21,5 42 78,6 21,4 499
\
\
Lo
WTRWJ Reduced union Y with stem
P
e CODE @bl | @Dp2 @P @C | L 12 g
o WTRWJ0604 6 4 ] 32 517 14 14,5
* WTRWJ0806 8 6 13 3,2 53 14,8 20,4
[2]9] - WTRWJ1008 10 8 15,1 4,2 593 18,3 35,5
‘ B WTRWJ1210 12 10 18,8 4,2 73 21,3 50,5
\
\
\
||
WTRKJ Reduced union multi-tee with lateral stem
CODE @D1 | @D2 | @P1 | @P2 | @C L1 L2 J e}
WTRKJ0604 6 4 13 1,1 3,2 73,5 19 36 4,2
WTRKJ0804 8 4 15,1 1,1 3,2 81,5 20 42 55
WTRKJ0806 8 6 151 13 3,2 81,5 20,3 42 7.3
WTRKJ1006 10 6 18,8 13 4,2 104,5 23,8 48 14,3
WTRKJ1008 10 8 18,8 15,1 4,2 105,9 24,3 48 18,2
WTRPF Female plug
CODE D P L g
WTRPFO4 4 1,1 17 2.6
WTRPFO5 5 12,8 173 3,1
- WTRPFO6 6 13 173 37
WTRPFO7 7 14,5 20,8 3,8
WTRPFO8 8 15,1 20,8 4,2
WTRPF10 10 188 25,3 55
WTRPF12 12 25 256 93
WTRPF14 14 23,2 25,7 12,4
WTRPF15 15 25,8 27 15,3
WTRPF16 16 26 27 171

drawings and technical data are not binding & can be changed without notice



WTR SERIES / PUSH-IN FITTINGS 31

WTRU Junction
22 CODE @D L g
: WIRIJO4 4 35 04
‘ WTRII06 6 37 08
. WIRJO8 8 a1 12
‘ WIRI10 10 51 27
‘ WIRIJ12 12 54 35
i WIRI16 16 58 53
WTRIG Reduced junction
-QTDL CODE D1 D2 B1 B2 L g
| WTRIG0604 6 4 18 17 36 0,6
@ ‘ WTRIG0806 8 6 20 18 39 1
- | WTRIG1008 10 8 25 20 46 19
‘ WTRIG1210 12 10 27 26 54 3,2
8 | WTRIG1612 16 12 28 28 56 4,8
o2
WTRP Male plug
aP1
"_" CODE D DP1 P2 B L g
e WTRPO4 4 5 3 15 28 0,4
P2
WTRPO6 6 7 3 17 33 0,8
- —= WTRPO7 7 8 35 18 37 11
- WTRPO8 8 Q 4 18 37 1,3
WTRP10 10 11 5 20,5 42 2.2
E@i‘ WTRP12 12 13 6 23 44 31
WTRP14 14 15 7 24 45 5
WTRP16 16 15 8 24,5 46 7
WTRUC-PRD Union connector for DIN profile
L3 CODE D P L1 L2 L3 g
o S WTRUC-PRDO4 4 1, 45 22 34,6 8
} £ ; }8]% WTRUC-PRDO6 6 13 45 22 352 8
J = [ il WTRUC-PRDOS 8 15,1 45 227 39,1 10
m W WTRUC-PRD10 10 18,8 45 247 452 17
‘ ‘ WTRUC-PRD12 12 21,5 45 26 49,2 20

drawings and technical data are not binding & can be changed without notice



32 WTR SERIES / PUSH-IN FITTINGS

WTRCV Applicable sleeve

CODE (7)) P L1 L2 g

)
WTRCVO4 43 10, 1 24 0]

R T

° o & SE ; WTRCV06 6,3 12,1 13 2,6 0,14
‘ WTRCVO8 8,3 14 15 28 0,18

(o] op

L1

@D BLUE RED WHITE YELLOW GREEN
4

WTRCVO4BL | WTRCVO4RO | WTRCVO4BO | WTRCVO4GL | WTRCVO4VD
WTRCVO6BL | WTRCVO6RO | WTRCVO6BO | WTRCVOS6GL | WTRCVO6VD
8 WTRCVO8BL | WTRCVO8RO | WTRCV0O8BO | WTRCVO8GL | WTRCV08VD

drawings and technical data are not binding & can be changed without notice



WTR SERIES / PUSH-IN FITTINGS I 38




34 I WTR SERIES / FLOW REGULATORS

WTR SERIES
FLOW
REGULATORS

PLUS

EASY REGULATION THANKS TO THE
HANDLE

AVAILABLE IN TWO VERSIONS, FOR
EXHAUST (BLACK COLLET) AND FOR
SUPPLY (RED COLLET)

WIDE RANGE FROM @4 TO @12
WITH TEFLON TAPER GAS AND
PARALLEL GAS THREADS

PRECISE REGULATION THAT ALLOWS
AN ACCURATE FLOW DOSAGE WITH
LIMITED PRESSURE LOSS



WTR SERIES / FLOW REGULATORS 35
WTR SERIES / BANJO FLOW REGULATORS

p. 37 / WTRFR-R p. 37 / WTRFR-R-IN p. 38 / WTRFR-G p. 38 / WTRFR-G-IN

WTR SERIES / FLAT FLOW REGULATORS

p. 41 / WTRNSF



36 WTR SERIES / FLOW REGULATORS

0°C = 60°C

@ Manual flow regulation

Working pressure:
10 Bar

Negative pressure:
-0,95 Bar (- 95 Kpa)

Body: Nickel-plated brass and PBT
Collet: POM

Collar: Zinc

Lock claw: Stainless steel AISI 301
Back ring: POM

Seal: NBR silicone free

®

Compressed air & Vacuum

O-ring: NBR silicone free

O ® O

- Taper gas BSPT ISO 7

- Parallel gas BSPP ISO 228

Handle: Nickel-plated brass
Lock nut: Nickel-plated brass

SILICONE Q{34

from R1/8" to R1/2" with teflon

from G1/8" to G1/2"

- Metric ISO 262

®

M5 J Products in compliance with
REACH EC Regulation 1907/2006
Polyamide PA,

Products in compliance with

Polyurethane PU, the directive EU 2015/863

Polyethylene PE

RoHS3

CONSTRUCTION DETAILS

Handle

Lock nut

EXHAUST (FOR CYLINDERS)
black collet

REGULATED FLOW

Back ring
FREE FLOW

SUPPLY (FOR VALVES)

red collet
Collar

Collet

FREE FLOW

Lock claw
REGULATED FLOW

TIGHTENING TORQUE TIGHTENING TORQUE

TAPER GAS BSPT ISO 7 PARALLEL GAS BSPP ISO 228 & METRIC ISO 262
THREAD 1/8" /4" 3/8" /2" THREAD M5x0,8 1/8" /4" 3/8" /2
Nm 7 12 22 28 Nm 1,5 10 15 25 40

drawings and technical data are not binding & can be changed without notice



WTRFR-R

WTR SERIES / FLOW REGULATORS

Banjo male elbow flow regulator unidirectional, for cylinders, BSPT thread with handle regulation

CODE @D T %] L1 L2 A CH g
WTRFRO4RO1 R1/8" 1 397 22,3 7 10 18
WTRFRO4R02 ‘ R1/4" 1 45,5 24,1 95 4 359
WTRFRO6RO1 R1/8" 13 39,7 23,1 7 10 18,5
WTRFRO6RO2 R1/4" 13 45,5 25,1 9,5 14 36,5
WTRFRO6R0O3 ¢ R3/8" 13 52 26,8 10,5 19 60,5
WTRFRO6R0O4 R1/2" 13 58 29,8 13,5 24 92,7
WTRFRO8RO1 R1/8" 15,1 39,7 25,6 7 10 19,3
WTRFRO8RO2 R1/4" 15,1 45,5 28,6 9.5 14 373
WTRFRO8RO3 ’ R3/8" 15,1 52 29,6 10,5 19 61,1
WTRFRO8RO4 R1/2" 15,1 58 326 13,5 24 934
WTRFRTORO1 R1/8" 18,8 39.7 28,8 7 10 22,7
WTRFR10R02 R1/4" 18,8 45,5 31 9.5 14 40,7
WTRFRTORO3 N R3/8" 18,8 52 31,6 10,5 19 64,5
WTRFR10R04 R1/2" 18,8 58 34,6 13,5 24 96,8
WTRFR12R02 R1/4" 21,5 45,5 33,5 95 14 42,2
WTRFR12RO3 12 R3/8" 21,5 52 356 10,5 19 66,1
WTRFR12R04 R1/2" 21,5 58 36,6 13,5 24 98,3

WTRFR-R-IN

Banjo male elbow flow regulator unidirectional, for valves, BSPT thread with handle regulation

P2

o] =

CODE @D T P L1 L2 B H g
WTRFRO4RO1-IN R1/8" 1 39,7 22,3 7 10 18
WTRFRO4R02-IN ‘ R1/4" 1 45,5 24,1 9.5 14 359
WTRFRO6RO1-IN R1/8" 13 39,7 23,1 7 10 18,5
WTRFRO6RO2-IN R1/4" 13 45,5 25,1 9.5 14 36,5
WTRFRO6RO3-IN ‘ R3/8" 13 52 26,8 10,5 19 60,5
WTRFRO6RO4-IN R1/2" 13 58 29,8 13,5 24 927
WTRFRO8RO1-IN R1/8" 15,1 39,7 256 7 10 19,3
WTRFRO8RO2-IN R1/4" 15,1 45,5 28,6 9,5 4 373
WTRFRO8RO3-IN ’ R3/8" 15,1 52 29,6 10,5 19 ol,1
WTRFRO8RO4-IN R1/2" 15,1 58 32,6 13,5 24 934
WTRFRTOROT-IN R1/8" 18,8 39,7 28,8 7 10 22,7
WTRFRTORO2-IN R1/4" 18,8 45,5 31 95 4 40,7
WTRFRTORO3-IN ° R3/8" 18,8 52 31,6 10,5 19 64,5
WTRFR1ORO4-IN R1/2" 18,8 58 34,6 13,5 24 96,8
WTRFR12R02-IN R1/4" 21,5 45,5 33,5 9.5 14 42,2
WTRFR12RO3-IN 12 R3/8" 21,5 52 356 10,5 19 66,1
WTRFR12R04-IN R1/2" 21,5 58 36,6 13,5 24 98,3

drawings and technical data are not binding & can be changed without notice

37



38 WTR SERIES / FLOW REGULATORS

WTRFR-G Banjo male elbow flow regulator unidirectional, for cylinders, BSPP & metric thread with handle regulation

CODE @D T oP A L1 L2 CH g
WTRFRO4AMS M508 | 11,1 4 29,3 20 8 15
WTRFRO4GO] 4 G/ o) 5 397 | 223 8 18
WTRFRO4G02 G| 1) 6 455 | 241 12 36
WTRFRO6MS M5x08 | 13 4 203 | 219 8 7
WTRFRO6GO] Gi/g | 13 5 397 | 23, 8 18,5
WTRFRO6GO2 6 |G| 13 6 455 | 25] 12 36,5

_ 7 WTRFRO6GO3 G3/8 | 13 72 52 26,8 14 60,5
oI WTRFRO6GO4 Gi/2| 1 82 | s8 | 208 | 17 | 927
WTRFRO8GO1 G1/8" 15,1 5 39,7 25,6 8 19,3

WTRFRO8GO2 G4 | 15) 6 45,5 8,6 12 373

WTRFRO8GO3 S 3/8" | 151 72 52 29,6 14 61,
WTRFRO8GO4 G1/2° | 15) 8,2 58 32,6 17 93,4
WTRFR10GO1 G1/8" | 188 5 397 | 288 8 207
WTRFR10G02 G4 | 188 6 455 | 311 12 40,7
WTRFR10GO3 RS 3/8' | 188 72 52 316 14 64,5
WTRFR10G04 G1/2" | 188 8,2 58 34,6 7 96,8
WTRFR12G02 G4 | 25 6 455 | 335 12 4272

WTRFR12G03 12 | G325 72 52 356 14 66)]
WTRFR12G04 G2 | 25 8,2 58 36,6 17 98,3
WTRFR-G-IN Banjo male elbow flow regulator unidirectional, for valves, BSPP & metric thread with handle regulation

CODE @D T P A L1 L2 CH g

(I ~ WIRFROAMSIN | M5x0,8 | 111 4 29,3 20 8 15
WTRFRO4GO1-IN 4 G1/8" 11,1 5 397 22,3 8 18

WTRFRO4GO2-N Gl/4 | 1] 6 455 | 241 12 36

WTRFRO6MS-IN M5x08 | 13 4 203 | 219 8 177

WTRFRO6GO 1IN Gl/8 | 13 5 397 | 23 8 18,5
WTRFRO6GO2IN | 6 | G1/4" | 13 6 455 | 251 12 36,5
WTRFRO6GO3IN G3/8" | 13 72 52 26,8 14 60,5
WTRFRO6GO4IN G2 13 8,2 58 29,8 1”7 92,7

WTRFRO8GO1-IN G1/8" 15,1 5 397 25,6 8 19,3

WTRFRO8GO2-IN Gl/a | 15) 6 455 8,6 12 373

WIRFROBGOIIN | © | G 3/8" | 151 72 52 29,6 14 o1
WTRFRO8GO4IN G1/2" | 15) 8,2 58 326 % 03,4
WTRFR10GO 1IN Gl/8" | 188 5 397 | 288 8 227
WTRFR10G02-IN Gl/4 | 188 6 455 | 31 12 407

WIRFRIOGO3IN || G 3/8' | 188 72 52 316 14 64,5

WTRFR10GO4IN G1/2 | 188 8,2 58 34,6 1”7 96,8

WTRFR12G02-IN Gl1/4" 21,5 6 45,5 33,5 12 42,2

WTRFR12GO3IN | 12 | G3/8" | 215 72 52 356 14 66,

WTRFR12G04IN G1/2" | 215 8,2 58 36,6 17 98,3

drawings and technical data are not binding & can be changed without notice



40 WTR SERIES / FLOW REGULATORS

Manual flow regulation
0°C + 60°C

Body: PBT
Collet: POM
Working pressure: Collar: Zinc
:\10 BG; Lock claw: Stainless steel AISI 301
egative pressure: o
-0,95 Bar (- 95 Kpa) @ Back ring: POM
Seal: NBR
O-ring: NBR

Handle: Nickel-plated brass
Lock nut: Nickel-plated brass

SILICONE jg3i{34

« Products in compliance with

. REACH EC Regulation 1907/2006
Polyamide PA, W N o

Polyurethane PU,

Products in compliance with
Polyethylene PE ROHS3 ) i direciive EU 2015/863

Compressed air & Vacuum

CONSTRUCTION DETAILS

Handle

Lock nut

Collar

Collet

O-ring

Lock claw

Back ring

drawings and technical data are not binding & can be changed without notice



WTR SERIES / FLOW REGULATORS 41

WTRNSF Unidirectional flat flow regulator with handle regulation
) CODE D P aC J L1 L2 g
MIJ % WTRNSFO4 4 1 3,2 14 39,5 28,8 17
o (@)
- G o WTRNSFO6 6 13 43 20 476 426 27
3 #f'i ﬂﬁ< ‘% %ﬂ *{‘»D[& WTRNSFO8 8 15,] 43 22 52,6 44,3 395
| 7= — M
L TS TS, wirnseio 10 18,8 43 2 605 534 60
; ‘ WTRNSF12 12 21,5 43 32 742 556 113,2

L1

5T

drawings and technical data are not binding & can be changed without notice



42 I WTR SERIES / HAND VALVES

WTR SERIES
HAND
VALVES

PLUS

COMPACT AND EXTREMLY LIGHT

GREAT VACUUM RESISTANCE

AVAILABLE IN VARIOUS
CONFIGURATIOS

2-WAY VERSION AVAILABLE ON
DEMAND

ALLOWS TO CLOSE AND DISCHARGE
THE PRESSURE DOWNSTREAM



WTR SERIES / HAND VALVES 43

alnalm-lw-ln-l-ul-a

p. 45 / WTRFS-R p. 45 / WTRFS-G p. 46 / WTRSF-R p. 46 / WTRSF-G p. 47 / WTRSS-R p. 47 / WTRSS-G

0. 48 / WTRFF



44

WTR SERIES / HAND VALVES

CONSTRUCTION DETAILS

0°C + 60°C

Working pressure:
from O to 10 Bar
Negative pressure:

-0,95 Bar (- 95 Kpa)

Compressed air & vacuum
(do not use with water)

®

- Taper gas BSPT ISO 7

from R1/8" to R1/2" with teflon

- Parallel gas BSPP ISO 228

from G1/8" to G1/2" with o-ring

Polyamide PA, Polyurethane PU

AVAILABILITY

Available in 2-way version (with blue

Body: Nickel-plated brass and PBT
Lock claw: Stainless steel AISI 301
Seal: NBR silicone free

Collet: POM

Valve: POM

Handle: POM (Black)

Back ring: POM

Collar: Nickel-plated zinc

Products in compliance with
EC Regulation 1907/2006

Products in compliance with
the directive EU 2015/863

Handle

Back ring

Lock claw

drawings and technical data are not binding & can be changed without notice



WTR SERIES / HAND VALVES 45

WTRFS-R Male hand valve BSPT thread, flow tube-thread
CODE @D T P | @C A L1 L2 J CH
WITRFSO6RO1 R1/8" | 145 | 42 | 7 | 583 | 205 | 165 | 14
ﬁﬁ& A WIRFSO6RO2 6 | R4 | 145 | a2 | 95 | e0s | 295 | 165 | 14
&HE ‘r@ WTRFSO6R03 R3/8" | 145 | 42 | 105 | 623 | 295 | 165 | 17
1 _H WITRFSO8RO1 R1/8" | 145 | 42 | 7 | 594 | 295 | 165 | 17
© o] WTRFSO8R02 8 R1/4 | 145 | 42 | 95 | 619 | 295 | 165 | 17
o A WITRFSO8RO3 R3/8" | 145 | 42 | 105 | 29 | 295 | 165 | 17
WTRFS10R02 R1/4° | 200 | 42 | 95 | 738 | 31 | 215 | 20
T WTRFS10R03 10 | R3/8” | 209 | 42 | 105 | 748 | 31 | 215 | 20
T 1}'\'3 WTRFS10R04 R1/2° | 200 | 42 | 185 | 778 | 31 | 215 | 2
WITRFS12R02 R1/4" | 209 | 42 | 95 | 734 | 31 | 215 | 2
WITRFS12R03 12 | R3se" | 209 | 42 | 105 | 4 | 3 | 25 | 2
WITRFS12R04 R1/2° | 209 | 42 | 135 | 774 | 31 | 215 | 21
WTRFS-G Male hand valve BSPP thread, flow tube-thread
CODE @D T oP | @C A L1 L2 J CH
WITRFS06GO1 Gl/8 | 145 | 42 | 5 | 578 | 295 | 165 | 14
CHT WITRFS06G02 6 |Gi/a | 145 | 42 | 58 | 591 | 205 | 165 | 14
WITRFS06GO03 G3/8" | 145 | 42 | 68 | 606 | 295 | 165 | 17
WITRFS08GO1 G1/8" | 145 | 42 | 5 | 589 | 295 | 165 | 17
WITRFS08G02 8 | G1a4 | 145 | 42 | 58 | 597 | 295 | 165 | 17
A WTRFS08G03 G3/8 | 145 | 42 | 68 | 612 | 295 | 165 | 20
WITRFS10G02 Gl/4 | 209 | 42 | 58 | 721 | 31 | 215 | 20
2 WITRFS10G03 10 | Ga/e | 209 | 42 | 68 | 731 | 31 | 215 | 20
T M WITRFS10G04 G1/2°| 209 | 42 | 8 | 748 | 31 | 25 | 24
e WITRFS12G02 Gl/4 | 209 | 42 | 58 | 717 | 31 | 25| 2
WTRFS12G03 12 |3 | 200 | 42 | 68 | 727 | 31 | 25 | 2
WITRFS12G04 G1/2° | 209 | 42 | 8 | 74| 31 | a5 | 24

drawings and technical data are not binding & can be changed without notice



46 WTR SERIES / HAND VALVES

WTRSF-R Male hand valve BSPT thread, flow thread-tube

CODE @D T oP | @C A L1 L2 J CH

WTRSFO6RO1 R1/8" 14,5 4,2 7 58,3 295 16,5 14

WTRSFO6R02 6 R1/4" 14,5 4,2 95 60,8 295 16,5 14

WTRSFO6R03 R 3/8" 14,5 4,2 10,5 62,3 295 16,5 17

WTRSFO8RO1 R1/8" | 145 | 42 | 7 | 594 | 205 | 165 | 17

WTRSFO8R02 8 R1/4 | 145 | 42 | 95 | 619 | 295 | 165 | 17

WTRSFO8R0O3 R 3/8" 14,5 472 10,5 62,9 29,5 16,5 17

WTRSF10R02 R1/4" | 209 | 42 | 95 | 738 | 31 | 215 | 20

F Y < WTRSF10R03 10 R 3/8" 20,9 4,2 10,5 74,8 31 21,5 20
T 1T\|3 WTRSF10R04 R1/2" 20,9 4,2 13,5 778 31 21,5 21
WTRSF12R02 R1/4" 20,9 4,2 ) 73,4 31 21,5 21

WITRSF12R03 12 | R3/8" | 209 | 42 | 105 | 744 | 3 | 25 | 2

WITRSF12R04 R1/2° | 209 | 42 | 135 | 774 | 31 | 215 | 21

WTRSF-G Male hand valve BSPP thread, flow thread-tube

CODE @D T opP | @C A L1 L2 J CH

WITRSFO6GO1 Gl/8" | 145 | 42 | 5 | 578 | 295 | 165 | 14

ﬁ WITRSFO6G02 6 |Gl 145 | 42 | 58 | 591 | 205 | 165 | 14

E T WTRSFO6GO3 G 3/8" 14,5 4,2 6,8 60,6 295 16,5 17

818 wrsrosco! Gise | s | a2 | 5 [ 89| 205 165 | 17

i WTRSFO8G02 8 G1/4" 14,5 4,2 58 59,7 295 16,5 17

WTRSFO8GO03 G 3/8" 14,5 4,2 6,8 61,2 295 16,5 20

WTRSF10G02 Gl1/4" 20,9 42 58 721 31 21,5 20

2 WITRSF10G03 10 | G3/8" | 209 | 42 | 68 | 731 | 31 | 25 | 20
T M WITRSF10G04 G1/2°| 209 | 42 | 8 | 78| 31 | 25 | 24
w3 WTRSF12G02 G1/4" 20,9 472 58 717 31 21,5 21
WIRSF12G03 12 |38 | 200 | 42 | 68 | 727 | 3 | 25 | 2

WTRSF12G04 G1/2" 20,9 4,2 8 74,4 31 21,5 24

drawings and technical data are not binding & can be changed without notice



WTR SERIES / HAND VALVES 47

WTRSS-R Male hand valve BSPT thread, flow thread-thread

CODE T | T2 | @C | Al | A2 | L] L2 J | CH1|CH2

WTRSSOTRO1 R1/8"|R1/8"| 472 7 7 65 295 | 16,5 14 14

WTRSSO2R02 R1/4"|R1/4"| 472 9.5 9.5 70 295 | 16,5 14 14

WTRSSO3RO3 R3/8"|R3/8"| 42 105 | 10,5 74 295 | 16,5 7 7

WTRSS04R04 R1/2"|R1/2"| 42 135 | 135 | 90,5 31 21,5 21 21

REDUCED MALE HAND VALVE BSPT THREAD, FLOW THREAD-THREAD
WTRSSO2RO1 R1/4"IR1/8"| 4.2 95 7 675 | 295 16,5 14 14
WTRSSO3R02 R3/8"|R1/4"| 472 10,5 95 73 295 | 165 17 17

T WTRSSO4RO3 R 1/27R3/8"| 42 | 135 | 105 | 875 | 31 | 215 | 21 | 2l
RN
il 3
WTRSS-G Male hand valve BSPP thread, flow thread-thread

CODE Tl T2 @C Al | A2 | LI L2 J | CH1 CH2

WTRSSO1GO1 G1/8"|G1/8"| 42 5 5 64 | 295 | 165 4 4
WTRSS02G02 G1/4"1G1/4"| 42 58 58 | 666 | 295 | 165 7 7
WTRSS03G03 G3/8"|G3/8"| 42 6,8 68 | 706 | 295 | 165 20 20
WTRSS04G04 G1/2"|G1/2"| 42 8 8 84,5 31 16,5 24 24

REDUCED HAND VALVE BSPP THREAD, FLOW THREAD-THREAD
L1 WTRSS02GO01 G1/4"|G1/8"| 42 58 5 653 | 295 | 165 7 4

WTRSS03G02 G3/8"|G1/4"| 42 6,8 58 | 696 | 295 | 165 20 7

2T\ | WTRSS04G03 G1/2"|G3/8"| 4,2 8 68 | 828 31 21,5 24 20

drawings and technical data are not binding & can be changed without notice



48 WTR SERIES / HAND VALVES

WTRFF Union hand valve, flow tube-tube
CODE @D (%]4 @C L1 L2 J
WITRFF0606 6 14,5 42 516 29,5 165
ﬁ WITRFFO808 8 14,5 42 52,8 295 16,5
3 AT @E - WTRFF1010 10 20,9 472 65,1 31 21,5
| ‘ ] -gls WITRFF1212 12 209 42 643 3 2,5
7‘\7,@’E9@ :
0% )
L1
12
r
xl\
il 3

drawings and technical data are not binding & can be changed without notice



	Cop. A4 WTR EU_fronte
	Catalogo WTR Series ed.2.0 09:23_EU
	Cop. A4 WTR EU_retro



